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Instructions :

(i)

(iii)

(iv)

)

All questions are compulsory. There are 22 questions.
T SHHI 1 9 7 T AT Eaid U9 € | I U B 1 i fuifa €

Question Nos. 1 to 7 are very short answer type questions. Each
question carries 1 mark.

¥ HHIH 8 T 13 % TSI U § | YAk U H 3 3wk fruifa €
(ST Y E-HIHT 50 I T T )

Question Nos. 8 to 13 are short answer type questions. Each question
carries 3 marks. (Maximum word-limit of answer is 50 words)

T ShHI 14 | 20 T SrESHT U ¢ | WA U § 5 3 fuifa g
(TR Y AK-HH 750 WK T )

Question Nos. 14 to 20 are long answer type questions. Each question
carries 5 marks. (Maximum word-limit of answer is /50 words)

WY ST 10, 16, 18, 20 TH 22 H 7iale fashed fgw 7w |

In Question Nos. 10, 16, 18, 20 and 22 internal options are given.
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[2]
(vi) gfte sfaa am, 9 gl § Amfes i steen Yanfes oy T €, S
T W 3! gafg/foRreaiet o 1-1 fowg fae |
Visually impaired students will write 1-1 point of speciality of that
places in the map-making or diagram questions.

(vii) FAU YT SH SE3AUT G o W, AT TF F0 o TIH W had]
forgam fai |
Hearing impaired students will write the long answer type questions
with points only.

(viii) T ST 21 3R 22 RN Hvd R A4Ra €, fad fafea fawged =i
Tea T 3R YRl e € | T U9 B 5 3 fauifa €|

Question Nos. 21 and 22 are related to identification or locating and

labelling of map, carrying 5 marks in each question.

Y9I-1 = I SATEH R YR ol i & 3faela smman g 2 [1]

Tea production comes under which type of agriculture?

yya-2  fgdiae foran-whamy fd wed § 2 [1]

What is called secondary activity?

Y9a-3 ol AR’ VIsE 9 1 e § ? [1]
What is meant by the term ‘wholesale trade’?

Y9A-4 XA | Ygcll SO e g off ? [1]
When was the First Census conducted in India?

Y9A-5  STAIMId Sl GHIEA % g 3eelvl fafa | [1]
Write two examples of non-renewable energy source.

UgA-6 =AML ATk Sfean st wamo forg o6 g8 oft 2 [1]
In which year the Steel Authority of India was established?

gy-7  fioed sl | 3SR I | [1]
Give two examples of oilseed crops.

YYA-8 AUy UYUTer ohi fohegl i forererarsii <1 aroiq whifera | [1x3=3]

Describe any three characteristics of commercial animal husbandry.
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Y9T-9 U 9 YR IR H ek B © 2
How do ports help in trade?
YPA-10 TSH URAe & g div oy fafaa |

Write any three advantages of road transportation.

s{gar
OR

TS T8 W T fewuit fafem |

Write a note on Suez Canal.

woA-11 i feu e fos o et gl o S i

(37) =9 A i qfaeyq o AW ey |
() ¥ yfaey el W foem € 2
(¥) 39 gfaey &l weh fovrma fafaw |

Study the diagram given below and answer the questions :

s

<
\

b

(a) Write the name of this rural settlement pattern.

(b) In which areas do you find this rural settlement pattern?

(c) Write one characteristic of this settlement pattern.

[3]

[3]

[1+1+1=3]

M-37A+

P.T.O.



TIT-12

YI1-13

UI1-14

WIT-15

YI1-16

991-17
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[4]
YT & TR0 YT ohi SARSAT hifIT |

Explain the environmental impact of migration.

TAGYR Yeie 91 § ? YAy |

What is watershed management? Explain.

DTG H il & foraor =1 faearges aHeey |
Explain in detail the distribution of coal in Chhattisgarh.
YRerg o HaR Helredl sl wiefehdl sl foearyges e Hifs |

Explain in detail the importance of transport and communication

services.
e Yo & Sl 6t Tl uter fasroaned =i fafaw |
Write any five characteristics of Large-scale Industries.

s7ear
OR

T g TeA fafe & fRT <ul | g1t € 2 39 39 & fohl d
forstwansti =t fafEw |

Rice intensive subsistence agriculture is done in which countries?

Write any three characteristics of this agriculture.

TS e < oo &5 T weh feoquft fafaw |

Write a note on the subject area of Human Geography.

U H ITHO-TRT SHEEI o2 ol guiq Hhifsu |

Describe the composition of rural-urban population in India.

sfear
OR

IRA § S foaur ud = Sl gunfad S At fe= e e
U i |
Describe any five factors affecting population distribution and density

in India.

[3]

[1x5=5]

[2+3=5]

[1x5=5]
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[5]
TR HT0 i TRl direr Tuened =1 auiq Hifs | [1x5=5]

Describe any five problems of Indian agriculture.

Sl o hIE & STIRIRE Ed HFE-HF & 8 2 IR Foll | Th feooft
forfEm | [2+3=5]
What are any two unconventional sources of energy? Write a note on

solar energy.

3Tear
OR

IR W Gt TET0T o foheg! uier SUTEl bl SIaisy | [1x5=5]

Mention any five measures of mineral conservation in India.

fava & UsHifae SR qEfas § guie U frefatea fagstli #i
TEATHT LT 37eh H 70 S-Yfeqent § fafam - [1x5=5]

(A) 9RA H I 61 ST &

(B) UM <kl TSIEHT

(C) ST 7w 1 =G 1AM
(D) <faqor sTAfeRT ol geld e
(E) ST%IhT I Y@ et

In the given political outline map of the world, identify the following

points and write their names in your answer-copy :
(A) Coal production area in India

(B) Capital of Japan

(C) Grassland in North America

(D) Mountain range in South America

(E) Main river of Africa
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Yga-22  YRA & qoiHiaes SHeRR JFtas |, fefafed o0 9ar oy w6 Sendl &

1Y o Hifog, [1+1+1+1+1=5]
(A) =T ScEe &l (B) TiREd 7St
(C) g=e TR (D) o it

(E) hIcTehIdl-o—Ts {eTHRT

In the given political outline map of India, locate and label the

following with symbols :
(A) Tea-producing Area (B) Godavari River
(C) Mumbai High (D) Chilika Lake

(E) Kolkata-Chennai Rail Route

sTgar
OR

[

SAEG b Togifchd AHres H, FATarEd ol Tgan-a a2 Sch TH 9=

I-Yftert # fafa :

(A) BTG i TS (B) TG 1 TG IR HREMI
(C) 0 IR &t (D) DTG HT F[2 FREM

(E) o¥d il &I

In the sign-marked map of Chhattisgarh, identify the following and

write their names in your answer-copy :
(A) Capital of Chhattisgarh (B) Main sugar plant in Chhattisgarh
(C) Diamond production area (D) Jute mill in Chhattisgarh

(E) Thermal power station
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